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SECTION A - K1 (CO1)

Answer ALL the Questions (10x1=10)

1. | Answer the following:

a) | Differentiate primary and secondary social institutions.

b) | What is endogamy?

c) | What are neolocal families?

d) | Mention any two means of informal social control.

e) | Recall any two theories on social change.

2. | Match the following:

a) | Law Pleasure

b) | Rati Patriarchal family

¢) | Reformation of attitude Primary social institution

d) | Father-centered family Secondary social institution

e) | Education Re-socialization

SECTION A - K2 (CO1)

Answer ALL the Questions (10x1=
10)

3. | True or False:

a) | The hidden, unintended function of an institution is called manifest function -

b) | Widow remarriage Act was passed in 1956 -

¢) | Religion is against advancement of science and rationality -

d) | Law is an informal means of social control -

e) | Technology is recognized as one of the most crucial factors in social change -

4. | Fill in the blanks:

a) is a socially approved way of establishing a family of procreation.

b) is a new form of marriage in which one marries himself/herself.

¢) | A mode of combining smaller families into a larger one through the extension of three or more
generations is .

d) is an institution through which children are taught formal academic knowledge and
learning skills.

e) | Transformation of cultures, institutions and social order is called

SECTION B - K3 (CO2)

Answer any TWO of the following in 600 words 2x10=
20)

Identify the differences between primary and secondary social institutions.

Define polygyny. Enumerate the causes and types of polygyny.

Describe the causes for the deterioration of joint family system in India.
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Illustrate the various formal means of social control.




SECTION C - K4 (CO3)

Answer any TWO of the following in 600 words 2x10=
20)
9. Outline the changing functions of the modern nuclear family.
10. | Explain the relationship between education and inequalities.
11. | Describe the causes of endogamy and exogamy.
12. | Analyze the portrayal of women in mass media.
SECTION D - K5 (CO4)
Answer any ONE of the following in 1000 words (1x20=
20)
13. | Discuss the various forms of marriage in India.
14. | Compare and contrast any two theories of social change.
SECTION E - K6 (CO5)
Answer any ONE of the following in 1000 words 1x20=
20)
15. | Examine the various types of family with special emphasis on alternate family forms.
16. | Summarise the various factors of social change.

&&&&&&&&E&




